Spring Test 3

Name ........................................................................ Class ................................. Date ...............................
1 12 = 2| 01= —09

U U
3 X 12 =108 4 | 900 X = 90000

U U

2

5 | 144= 6 | 3408 + 9=

U U
7 =2176 X 6 8 ;—Jr%:

U U
O | 13+15= X 4 10| 9.8165 X 100 =

U U
" %4_%: 12 =%Of40

U U
13| 5 x5 = 14| =

U U
15 | 139.652 =~ 10 = 16 | 2004 — 5119 =

O O
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Spring Test 3 (continued)

17 68574 18 =4 X (10 —5)
19 ;—x;—= 20| 600 — =162
21 | 7458+ 29815+ 67 = 22| 3592 —6.741 =
23| B30—19) X 8= 294 | 4 X =7132
25 +8=10632 26| 71.7 = — 8.351
483
27 19 1 8531 (2 marks) 28 % 37 (2 marks)
\
Total marks /30
J
How well did you do? + with correct place value | 21| 22 | 26
Colour the numbers of the — with zeros 16 | 20
questions you got correct. =orxby10,1000r1000 | 4 [10 |15
Long x and long + 271 28
Fractions 8|1 M |12]13|19
Missing numbers 213145912024 )25(26
Brackets 18 | 23
+ 2 (89 (1|21
- 16 [ 18 [20 |22 |23 | 26
X 1 10112 (1314 (18 (19 23]|25]28
+ 3 5169 (121517 (24|27
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